10 \ 9 \ 8 \ 7 \ 6 5 4 3 2 \ 120108
PART NUMBER [ ENGINEERING NO.[LENGTH = TOLERANCE
1201080201 E1MA0621M020 6 6" +2.19"/-0" [ 2M +55.6/-0 mm |
F
E
D
NOTES: FINISHED LENGTH (SEE CHART)
1) MATERIAL: SEE TABLE —
2) FINISHES: SEE TABLE
3) CABLE: #22/4 SHELDED PUR
4) ELECTRICAL DATA:
ACCORDING TO CATSe ETHERNET STANDARD C
MAX. VOLTAGE: 30V =y 5
MAX. CURRENT 15A
5) ENVIRONMENTAL: 7 Y%H‘LTOEW 7
PROTECTION IP67 | % I ORANGE | 2 | —
TEMPERATURE RANGE: -20°C TO 60°C 7 Bl UE 2
6) WRAP LABEL IS MARKED WITH P/N, DATE CODE, SHIELD
VOLTAGE & AMPERAGE. L S
7) ASSEMBLY IS RoHS COMPLIANT. WIRING D\AGRAM B
‘S % QUAUTY GENERAL TOLERANEES DIMENSION STYLE SCALE DESIGN UNITS TH‘RD ANGLE
= 2Z| |symoLs| (UNLESS SPECIFIED) MM ONLY 1:50 METRIC | © CIpROECTION
() g g mm ‘N[H DRAWN BY DATE TITLE |
Q7 Sz| W0 [CPLAGSE-—- [z-— BRUPERT  2011/11/28 MIC 4P _MM/MM-ST/90
6 171 JLABEL PLASTIC FILM [BLACK/YELLOW| & B -0 ; Etﬁ% 1005 f CHECKED BY DATE D-CODED
5 2 INSERT PUR BLACK o= Eo - = =
NnSE Eu T - APPROVED BY DATE
418 [PN CONTACT COPPER ALLOY|GOLD PLATED], P55 2° LA O S—FMURPHY  2012/04/17 @ MOLEX INCORPORATED A
3 2 M12 _COUPLING NUT BRASS NICKEL = S =l — MATERIAL NO. DOCUMENT NO. SHEET NO.
2 12 |OVERMOLD PUR BLACK RoZ=<% DRAFT WHERE APPLICABLE| SEE CHART SD-120108-043 1 OF 1
11 [ETHERNET CABLE-CATSE[PUR JACKET |GREEN SE8S= MUST REMAIN SZE| THIS DRAWING CONTAINS INFORMATION THAT IS PROPRETARY TO MOLEX
ITEM[QTY.| DESCRIPTION MATERIAL FINISH B g WITHIN DIMENSIONS B |INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

tb_frame_B_P_AM_T 9 8

Rev. E 2006/04/15

7

o

5

‘ |

3

2 |

1



10 | 9 | 8 | 7 | 6 | 5 | 4 | 3 | 2 | 1

| | | | | | | 1 | 1
‘6®\ First and Second Connector Insert HEAD TYPE Cable type LENGTH UNIT LENGTH 6®\
/ \ 1=M12 Threaded 4 Pole D-code||A=4 Pole 062 Plugs male straight / plugs male 90 2x2x22AWG C-cm E;gmiplgM ( \
@) 0) Nefwr Protacol PUR. Green. Shield M-m 080 - 6M @ @)
— E-Ethernet Table of lenghf fol v Kokrn 100 - 10M
@ / aple of leng olerances FTIONS @ /
A\ Over |Up to and Including [Tolerance (+) F-feel A
0 305 RE B: ggc%méeAdR[Rf‘orRSh\etded version only)
505 o5 45 v
215 1830 +56
VEEW FROM THE WIRES SIDE 1830 3660 +89 VEEW FROM THE WIRES SIDE
3660 7320 +165
7320 14640 +317
14640 30500 +610
30500 > 2% of length
Pin_{Wire color Pin |Wire color

1 |YELLOW 1 |YELLOW

2 |WHITE 2 |WHITE

3 |ORANGE 3 [ORANGE

4 |BLUE 4 [BLUE

L = See Matrix +Tol.
= ——L
N R
VIEW FROM THE FRONT SIDE 50 REF

2 x I/D Carrier if in Matrix is "H"

VIEW FROM THE FRONT SIDE
Bil of Materials

S E % QUALITY GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS ‘H_HRD ANGLE
7 | - | D CARRER SEE MATRIX |SEE MATRIX w =52 [symoLs| (UNLESS SPECIFIED) MM ONLY - METRIC | © ] PROJECTION
6 1 LABEL 7 YELLOW [7p] . g g g —_— mm ‘NCH DRAWN BY DATE TITLE
Lo SSSz -0 [ZPLACES|E —-  [£-—  AKONDRACIUK 2015/09/11 MIC 4P M/MP ST/90
W= g
5 MOLDING MATERIAL TPU BLACK J95 g8 SPLACESE—— |+ ey DATE D-CODED XM
4 | 2 | COUPLING NUT MALE M2 |CuZn38Pb3 |CuN3 TS =0y \/=0 [ZPLACES|E—- [+-—  JMMAJGAT 2015/09/11
3 | 8 | CONTACT MALE CUNZS CuN2 202228 1PLACE [£--7  |*--- WPROVED BT oA
N2S WNi 3rs== U PLACE E=== [2=== MIWASIECZKD 2015/09/29 Moiex
2 | 2 | INSERT M12 4P MALE DC PUR BLACK 5< =EZ ANGULAR £ 1 ° MATERIAL NO. DOCUMENT NO. SHEET NO.
1| - | CABLE 4x034 m PUR GREEN T § %‘§ DRAFT WUHSETREREAMFX\)NU[ABLE SEESEE MATRIX SD-120108-090 1 OF 1
THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
ITEM|QTY. | DESCRITION MATERAL | FINISH A & WITHN DIMENSIONS |\ 3|INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

b_frame_A3_P_ME_T
Rev E1 2012/01/25 9 8 7 6 3 |

4 | 3 | 2 | 1




